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CME on Comprehensive Care for the Child with Upper Extremity Limb Deficiency

CME article number 2: Brian M. Kelly and Virgina S. Nelson

Questions

1. The most common cause of amputation for a child aged 12 is?

a. Self-inflicted
b. Tumor
c. Lawnmower accident
d. Motor vehicle accident

2. The terminal device for a body-powered prosthesis should be activated at which month?

a. Three
b. Six
c. Twelve
d. Twenty-four

3. A prosthesis for an average seven year-old child is expected to last how many months?

a. Six
b. Twelve
c. Eighteen
d. Twenty-four

4. Which has been shown to be a critical factor to help a child accept a prosthesis?

a. Cosmesis
b. Parental influence
c. Use of a prosthesis before age five
d. Light weight and durable components

5. Which outcome measure identifies the extent to which a child actually uses their prosthesis?

a. PUFI
b. Wee FIM
c. PODCI
d. CAPP-FSI

6. Which of the following factors is most important to the success of high-level bilateral prosthetic use in a
multi-limb amputee with a TBI after a MVA?

a. Proprioceptive feedback
b. Strength
c. Comfort
d. Component weight

7. The primary function of the wrist unit is to

a. Allow flexion and extension
b. Allow supination and pronation
c. Attach the terminal device to the socket
d. Control the terminal device
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8. For a preschool child the primary reason to prescribe a prosthesis with an exoskeletal design is which of the
following?

a. Cosmesis
b. Durability
c. Interchangeability of parts
d. Internal strength

9. Which type of socket for a body-powered prosthesis is best for a 3 year old child with a mid-length unilateral
transradial limb deletion?

a. Self-suspending socket
b. Socket with a growth liner
c. Socket with a silicone pin suspension system
d. Socket with suction suspension

10. Terminal bony overgrowth of the residual limb occurs in what percentage of children?

a. 80%
b. 60%
c. 40%
d. 20%


